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Applying its definition, we find the resistance of the rod,
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(b}  Thelength of the rod is determined from the definition of resistivity: R = % . Solving for £

and substituting numerical values for R, 4, and the value of p given for
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The diameter is bwice this distance:

carbon in Table 27 .1,

74 = mass density,

t__pt__ppat’

B Ha®
M'."' £ 'P M

e,

i~
rR=£
A

r=140%10"4 m.,

diameter = ]_—28__{1 @



F27.21  Originally, R*%. Finally, R, _ALB)_ pt

34 9A

'xﬁl,’:t.l

sy PNg Prut

wira)’ :-r(rcuf_

T _ | Fa =J2._82xlﬂ'i__ 1.29 i
few ¥ P 170 x107

pamas Rp=PLfL, P2ty _pifitPats
Ay Ag d®

[iqt_} %107 €2-m}(0.250 m) +(6.00 x 10° Q- m})(0.400 m) _[74]

R= 2
(300x10°° m)’




